[N
<
N

~1072

a(6 @) (rad)
a(d cot(B)

1073 1073

kel kel
IS IS
o . 1 N ] . o
i S0 S S (R | R Peees I
092 T 0 12 3 098331 0 12 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_TT _original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
—— DQM_TT__mod_modelsdeep_somethingbetter
£ £
e c
~ -
o °
5 ]
1072
: 1072
Y| I I I | S N I B 0105 AP | | A S T
g [ : 5 g f
a4 [ N o L
1_— ----------- [P T - -m:--qmq ------------------- 1_— ----------- [P T - B Y S
098331 0 T 2 3 098331 0 T 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

a0 p,/p,)

107

TR0 T2 3
TP n (PCA to beamline)



	Contents
	Page 1


